(RMBEE) [RERIRA-F&5 FTERE

m&aEt 72,050
hRX (£281%) 13,600
1 1 oE INERR 400
1 2 AHT INFRR 300
1 3 EJ]| INFRR 200
1 4 ZF INFRR 100
1 5 A INERR 1,000
1 6 B INERAR 400
1 7 £B INERR 800
1 15 K% INERR 800
1 24 *R INERR 500
1 28 iR INERR 400
1 30 wWrE INFERR 600
1] 33 2l N 400
1 35 ngE INEERE 100
1 43 B2AE INSERR 1,000
1 50 #X INEERE 100
1| 55 e NP 700
1 56 —F#% INEERE 200
1 | 65 s INERR 100
1| 107 4REE INEERE 400
1 2 EN e 500
1 3 B e 900
1 4 & AR 100
1 8 e AR 400
1 9 B REERR 1,000
1 12 %R REERR 1,600
1 15 W REERR 100
1 18 NFE REERR 400
1 25 ERE REERR 100




(RMBEE) [RERIRA-F&5 FTERE

TERIIX (£324%) 11,800
2 9 BRI INFRR 800
2 11 Pt INFRR 400
2 19 b= INFRR 500
2 20 185 INFRR 400
2 21 il INFRR 100
2 22 =ik INERR 500
2 23 RIE INERAR 200
2 44 BER INEAR 500
2 57 ZTIELE INERR 300
2 58 ERNE= INERR 100
2 59 wINRE INERR 300
2 60 SOENER INFERR 400
2 61 SOENER INFERR 200
2 85 EHT N 600
2 92 HH INFERR 200
2 95 RiRE N 300
2 | 100 s INFERR 700
2 | 106 HEYTE N 500
2 | 110 BmOH INFERR 300
2 | 118 s INFERR 600
2 | 121 s INFERR 200
2 | 129 ERN INFERR 200
2 7 TtE AR 400
2 10 it AR 100
2 11 Bk REERR 300
2 26 ZTIHLE REERR 100
2 27 IDENR R 200
2 38 & E AR 700
2 40 XF REERR 300
2 47 HELR AR 100
2 52 FHIRAY REERR 1,000
2 61 ERN R 300




(RMBEE) [RERIRA-F&5 FTERE

TERX (£241%) 10,650
3 8 0ne INFRR 200
3 10 fBE INFRR 200
3 12 B4 INFRR 600
3 16 RE INFRR 500
3 18 A INFRR 400
3 27 AT INERR 500
3 34 fkET INERAR 300
3 36 IWE INERR 700
3 37 P& INERAR 1,300
3 40 FEE INERR 200
3 42 HeHaE INEA 400
3 54 EHAK N 400
3 68 B N 700
3 69 Ha INFERR 400
3 75 INPETE N 200
3 80 FEER N 300
3 5 AT AR 100
3 6 INRE e 1,000
3 14 #AT AR 200
3 19 e AR 400
3 20 FEA AR 200
3 30 B AR 1,000
3 34 #0nE AR 400
3 e [ gt £ a2y 50




(RMBEE) [RERIRA-F&5 FTERE

EERX (2288) 13,100
4 13 T INFRR 200
4 14 E=2UN INFRR 700
4 17 RA INFRR 200
4 31 =E:3 INFRR 300
4 32 i INFRR 200
4 38 XE INERR 200
4 39 B INERR 700
4 51 (i N INERR 800
4 FHEHL INERAR 700
4 FHAEDLME INEAR 600
4 64 EEE INERR 600
4 71 FHAER N 100
4 87 #oHEL INFERR 500
4 93 HOhHEME INEERE 600
4 94 e N 300
4 97 HEDE N 300
4 | 102 R INFERR 200
4 1 e F AR 1,100
4 16 B e 100
4 17 BH AR 100
4 24 FRETE e 300
4 29 XE e 100
4 35 FHAES AR 100
4 37 HOHE o) 5oy 500
4 | 4 = PR 400
4 45 IWE REERR 1,200
4 | 48 BiF PR 900
4 | 41 -5 1,100




(RMBEE) [RERIRA-F&5 FTERE

WX | 4 e RO3EEE

s | B2 FHE FEME

X (£241%) 12,400
5 25 A INFRR 200
5 26 = INFRR 400
5 29 Tl INFRR 600
5 49 TR INFRR 600
5 88 EHR INFRR 800
5 90 RKKRF INERR 200
5 | 103 2% INERR 300
5 | 108 R&E INERR 400
5 | 109 T&5m INERR 1,500
5 | 111 NS INERR 900
5 | 112 PN} INERR 400
5 | 113 = N 300
5 115 ®iR N 500
5 | 116 hTHMNE INFERR 1,500
5 | 117 mH N 700
5 | 120 BHHEmE INFERR 300
5 13 ZH e 200
5 23 % e 200
5 49 f2 e 300
5 51 RE e 200
5 53 T5E e 100
5 55 A e 600
5 56 K e 800
5 59 B HEHE e 400




(RMBEE) [RERIRA-F&5 FTERE

EER (2298) 10,500
6 4 WEE= INFRR 400
6 66 iR INFRR 600
6 76 EHE= INFRR 400
6 79 BMNE= INFRR 400
6 81 EiMEm INFRR 400
6 82 ERER INEEA 100
6 83 EEE— INERAR 100
6 84 TR INEAR 100
6 | 101 HDE= INERR 200
6 | 114 T# INEAR 300
6 | 119 BRI INERR 800
6 | 122 EIETHE N 700
6 | 123 =M INFERR 300
6 | 124 EBR N 300
6 | 125 B INFERR 500
6 | 126 BiERE INFERR 200
6 | 127 50 INFERR 200
6 | 128 M7 INEE 400
6 22 FR/IE— AR 100
6 =M AR 700
6 33 #iRAE e 300
6 42 BE AR 100
6 43 FB/IE— AR 100
6 46 TR AR 400
6 54 T# REERR 1,300
6 57 | WMESZERME AR 100
6 58 = REERR 800
6 60 50 R 100
6 | 4¥3 EERRIXIE 100




